






 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

𝑑 = 𝑖𝑛𝑑𝑖𝑣𝑖𝑑𝑢𝑎𝑙 𝑑𝑎𝑡𝑎𝑠𝑒𝑡       [1]

𝐷𝑉𝑑 = 𝑄𝑢𝑎𝑛𝑡𝑖𝑡𝑦 𝐷𝑎𝑡𝑎𝑠𝑒𝑡(𝑄𝑛𝑑) ∙ 𝑄𝑢𝑎𝑙𝑖𝑡𝑦 𝐷𝑎𝑡𝑎𝑠𝑒𝑡 (𝑄𝑙𝑑)   ∙ 𝐼𝑛𝑓𝑜𝑟𝑚𝑎𝑡𝑖𝑜𝑛 𝑎𝑏𝑜𝑢𝑡 𝐷𝑎𝑡𝑎𝑠𝑒𝑡 (𝐼𝑑)      [2] 

𝑅𝐷𝑉𝑑 = 0.5 ∙  
𝐷𝑉𝑑  

∑ 𝐷𝑉
       [3]

𝐶𝑙𝑎𝑖𝑚𝑑(€) = 𝑅𝐷𝑉𝑑 ∙  𝑇𝑜𝑡𝑎𝑙 𝑅𝑒𝑣𝑒𝑛𝑢𝑒 (€)       [4]



 

 

 

 

 

 

 

 

 

 

https://gpt-nl.nl/gpt-nl-visual-overview/


𝑄𝑙𝑑 =  
𝑄𝑛𝑑(𝑖𝑛𝑐𝑙. 𝑜𝑣𝑒𝑟𝑠𝑎𝑚𝑝𝑙𝑖𝑛𝑔) 

𝑄𝑛𝑑

       [5]

How do we measure 

 



 

𝑄𝑙𝑚𝑎𝑥 = 𝑢𝑝𝑠𝑎𝑚𝑝𝑙𝑒 𝑟𝑎𝑡𝑒 𝑓𝑜𝑟 𝑡ℎ𝑒 ℎ𝑖𝑔ℎ𝑒𝑠𝑡 𝑞𝑢𝑎𝑙𝑖𝑡𝑦 𝑑𝑎𝑡𝑎 𝑖𝑛 𝑡ℎ𝑒 𝐺𝑃𝑇𝑁𝐿 𝑠𝑒𝑡       [6]

𝑅𝑄𝑙𝑑 = max (1.0 ,
8 ∙ 𝑄𝑙𝑑 ∙ 𝐼𝑑

𝑄𝑙𝑚𝑎𝑥

)           [7]

𝐶𝑙𝑎𝑖𝑚𝑑(€) = (333.33 ∙ 𝑅𝑄𝑙𝑑) 𝑓𝑜𝑟 𝑒𝑣𝑒𝑟𝑦 1𝐵 𝑡𝑜𝑘𝑒𝑛𝑠          [8]

𝑅𝑄𝑙𝑑 = max (1.0,
8 ∙𝑄𝑙𝑚𝑎𝑥 ∙ 1.25

𝑄𝑙𝑚𝑎𝑥
 ) = 10

𝐶𝑙𝑎𝑖𝑚𝑑 = (333.33 ∙ 10) = €3333.33 𝑓𝑜𝑟 𝑒𝑣𝑒𝑟𝑦 1𝐵 𝑡𝑜𝑘𝑒𝑛𝑠


